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QUESTION 1

A customer has deployed a two node active-active IBM Sterling B2B Integrator (SBI) cluster in the secure zone on two
servers. The customer has installed two servers in the DMZ for the purpose of installing remote SBI Perimeter Servers
to facilitate communications with external partners. External partners will connect to an external IP Load Balancer that
will distribute inbound FTP/S, SFTP and HTTP Client sessions across the Perimeter Servers. The customer requirement
is that if any single server fails, all the other SBI nodes and remote Perimeter Server instances must continue to
activelyThe customer? requirement is that if any single server fails, all the other SBI nodes and remote Perimeter Server
instances must continue to actively handle inbound sessions for each protocol. What is the minimum number of remote
Perimeter Server instances that must be deployed in the DMZ? 

A. 2 

B. 3 

C. 4 

D. 12 

Correct Answer: C 

 

QUESTION 2

An analyst is responsible for implementing an AS2 solution for their company using IBM Sterling B2B Integrator (SBI).
After certificates and connections information have been gathered, what is the first thing that must be created in the
system? 

A. Partners 

B. Code List 

C. Relationship 

D. Organization 

Correct Answer: D 

 

QUESTION 3

A Business Process (BP) has been identified that failed due to an issue that was introduced with an external system not
having a file system available. The BP has OnFault logic that traps the error and sends an email notification. The
administrator has talked with the appropriate resources and confirmed the issue has been resolved so all future
processing works as desired. To reprocess the failed BP, which two actions must be executed for each of the failed
instances? (Choose two.) 

A. Restart 

B. Resume 

C. Advanced Restart 
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D. Terminate and Resubmit 

E. Interrupt and Resubmit 

Correct Answer: AC 

 

QUESTION 4

An information security department is trying to coordinate duties between various organization to increase security.
What are three supported security features that will increase security? (Choose three.) 

A. FTP Client and Server Adapters for transmission 

B. authentication integrated with external certificate repositories 

C. support for AUTACK authentication messages for EDIFACT transactions 

D. Cyber Security Operations Center (CSOC) Comprehensive Cyber Threat Detection and Response 

E. Controlled Substances Ordering System (CSOS) to permit electronic transmission of orders for controlled
substances 

F. Perimeter server, with a reverse proxy in the DMZ for managing protocols and ensuring firewall security from the
outside 

Correct Answer: BCF 

 

QUESTION 5

A developer has been tasked with writing a communications process to connect to a partner SFTP server and get order
files. Authentication of theA developer has been tasked with writing a communications process to connect to a partner?
SFTP server and get order files. Authentication of the user is being performed by a key signature to the partner SFTP
server.user is being performed by a key signature to the partner? SFTP server. Which two keys are required for
establishing an SFTP session to the SFTP server? (Choose two.) 

A. Known Host Key 

B. Host Identity Key 

C. User Identity Key 

D. Remote Host Key 

E. Authorized User Key 

Correct Answer: AC 
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